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8. Which set of similar shapes are proportional? (6-4.7)

12in 3in "
6in 12in 2in
8in 2in 1in
a. Onlyl
b. Bothl &Il
c. Onlyll
d. Neitherlorll
9. Identify the shapes. (6-4.7)
a. Congruent 60° 60°
b. Similar 60° 60
c. Neither 60° 60°
10. What is the missing side length? (6-4.7)
5in
a. X=10
b. X=5 X
¢ X=3 15in
d. X=1 3in
The measure of angle 1 is 50° and the measure of angle 2 is 40°. Which is a true statement? (6-4.9)
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The sum of the angles is 90°; the angles are supplementary
The sum of the angles is 90°; the angles are complementary
The sum of the angles is 180°; the angles are supplementary
The sum of the angles is 180°; the angles are complementary




